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1.  Which statement is not true of the graph 2. The figure shows the graph of f', the derivative
(2} = (& + 3){x - 4)2? of the function f. The domain of the function f
. - is —10 < 2 < 10. For what value(s) of & does the
a) f has a relative minimurm at (4,0) function have a relative maximum?
b) f has a point of inflection at (4,0) y
¢) f has a relative maximum at (-3, 372)
d) f has an intercept at (4,0) 6,1 (5,1)
e) f has an intercept at (—3,0) 6,0
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a) 3and 5 b) 2
c) 6 d) 4
e) 5 only
3. The figure shows the graph of f/, the derivative 4. The figure shows the graph of f', the derivative
of the function f. The domain of the function f of the function f. The domain of the function f
is —10 < @ < 10. For what value(s) does the is —10 < 2 < 10. For what value(s) does the
function have a relative maximum? function have a relative minimum?
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[image: image2.jpg]The figure shows the graph of f', the derivative
of the function f. The domain of the function f
is =10 £ & < 10. For what value(s) is the graph
of f concave upwards?

a) 10< < ~2
b) 0<z<10
Q) 0<w<2

d) —2<x<0
e) 2<x <10

The figure shaws the graph of £/, the derivative
of the function f. The domain of the function f
is =10 < x < 10. For what value(s) does the
function have a possible point(s) of inflection?

b) @
e) —1and 1

6.

8.
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The figure shows the graph of f/, the derivative
of the function f. The domain of the function f
is —10 < = < 10. For what value(s) is the graph
of f concave upwards?
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a) 10 <z < -3 only

b) 3 <2 <10 only

c) =3 <& <3only

d) —10<z<-3and3<z<10
e) -3<w<0and 3<z <10

If f/(2) =0 and f™(2) #0, then s =2 is
a) a cusp

b) an absolute maximum

¢) a local minimum point

d) a local maximum point

&) a point of inflection




